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Write the slope-intercept form of the equation of each line.

1)  y + 4 = −
5

2
(x − 2) 2)  y + 4 = 3(x + 1)

3)  y = 2(x − 2)
4)  y − 3 = 

6

5
(x − 5)

5)  y − 4 = 7(x + 2)
6)  y − 4 = 

9

7
(x − 4)



©s s2W0L1a7J WKZuztxal uSFoufMtzwIayrXeX [LLLlCp.K P TAPlAlr nrHiKgzh]t^sE cryessmesr`vjeXdQ.t ] YMSaFdFeE jwWiwt]h^ vIinof[icnlintje` AAZlugLeHbprGag H1K.

Worksheet by Kuta Software LLC-2-

7)  y − 2 = x − 3
8)  y − 2 = −

2

5
(x + 5)

Write the point-slope form of the equation of the line through the given points.

9)  through: (0, 1) and (−3, 2) 10)  through: (5, −3) and (0, 3)

11)  through: (1, 3) and (1, 1) 12)  through: (0, 1) and (1, 5)
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Write the slope-intercept form of the equation of the line through the given points using
point-slope form.

13)  through: (3, −3) and (0, −5) 14)  through: (0, 3) and (2, 4)

15)  through: (−4, −4) and (0, −3) 16)  through: (0, 4) and (−1, 4)

17)  through: (−2, −4) and (−1, −3) 18)  through: (0, 4) and (0, −1)



©c B2]0\1t7m eKFumt[ax ZSAocfStgwka`rQe] fLsLnCB.T K UAol`lQ [rPiIgshHtcsf `rAedsLeLrFvwekdS.O Q RMKaxdaeO bwai]tlhl rItnnfiiKnMiateeJ yAolbgQeGbBrwaY f1p.

Worksheet by Kuta Software LLC-4-

19)  through: (2, −2) and (0, −4) 20)  through: (−5, −3) and (0, 5)
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Answers to Point-Slope Form Practice (ID: 1)

1)  y = −
5

2
x + 1

2)  y = 3x − 1 3)  y = 2x − 4
4)  y = 

6

5
x − 3

5)  y = 7x + 18
6)  y = 

9

7
x − 

8

7

7)  y = x − 1
8)  y = −

2

5
x

9)  y − 1 = −
1

3
x 10)  y + 3 = −

6

5
(x − 5) 11)  0 = x − 1 12)  y − 1 = 4x

13)  y = 
2

3
x − 5 14)  y = 

1

2
x + 3 15)  y = 

1

4
x − 3

16)  y = 4

17)  y = x − 2 18)  x = 0 19)  y = x − 4
20)  y = 

8

5
x + 5


